## **PURCHASE ORDER**

			No
pofe	ren(	ce.	MO.

TEQIP-III/2018/duie/Shopping/22

Date of Issue:

10-Aug-2018

Subject:

DUIET/TEQIP16/ALL DEPT/FURNITURE

Purchaser:

Technology, Dibrugarh

Dibrugarh University Institute of Engineering &

Dibrugarh University, Dibrugarh, Assam- 786004.

Supplier Name:

**Commercial Equipments House** 

RKB Path, Dibrugarh, Assam, 786001, Dibrugarh, Assam, 786001

With reference to our correspondence, Dibrugarh University Institute of Engineering & Technology, Dibrugarh is pleased to award this detailed Purchase Order to Commercial Equipments House for supply of items as per the details given below at a total cost of 5735861.00 (<Fifty seven lakhs thirty five thousand eight hundred sixty one>):

Sr.	Item Name	Quantity	Unit Cost	Total Cost	Delivery
No			(Rs.)	(Rs.)	Period
1	Almirah for NPIU Faculty	4	13909	55636	45
2	Book Rack for record keeping for all Laboratory	37	6129	226773	45
3	Conference room chair	150	12848	1927200	45
4	Display board (Faculty details and student's toppers of the department)	8	2000	16000	45

5	Faculty chair	44	9099	400356	45
5	Faculty room magnetic white board and duster	44	2310	101640	45
	Lab Work bench	1	370000	370000	45
5	Magnetic White board with duster for laboratory	27	8150	220050	45
)	Notice Board	6	4500	27000	45
10	Office Table	1	20046	20046	45
11	Seating stool (Revolving and height adjustable)	180	3596	647280	45
12	Student's desk cum bench	110	6899	758890	45
13	Visitor Chair	3	3676	11028	45
14	Wooden Table High Base	20	3950	79000	45

Total price (without taxes)

Rs. 4860899.00

Total applicable taxes

18 %

Total price (with taxes)

Rs, 5735861.00

Total Octroi

Rs.

Delivery

: Dibrugarh University Institute of Engineering & Technology,

Dibrugarh

Testing/Installation

Clause (if any)

: Yes

Training Clause (if any)

no

Technical Specifications

: As per Annexure - 1

Delivery Period

: As specified for each item from date of issue of confirmed

purchase order or as early as possible.

Warranty

: 36

Payment Terms

Delivery and Installation - 100% of total cost

Satisfactory Acceptance - 0% of total cost

For

Dibrugarh University Institute of Engineering & Technology, Dibrugarh

(Authorized Sighature)

Name & Designation in subject of

U Thegar! Togger There

+ University Institute of earling & Technology

Accepted by \$6904, Assay

Signature अस्पर्व

Date 14/08/18

Address Nilly

C.E.H. Dibrugash

9435846372

Annexure I

Sr. No	Item Name	Specifications
1	Almirah for NPIU Faculty	Minor Plain with 3 shelves Size: 1270h x 765w x 440d. Metal body. (With quotation Attachment of catalogue of particular furniture is mandatory)
2	Book Rack for record keeping for all Laboratory	Book Rack for record keeping for all Laboratory 6'x4' open, Weight Capacity: 100-300 KG per level, Standard Size: W36inch * D18inch, Single Sided All Steel Rack with Standard 6 Shelves (With quotation Attachment of catalogue of particular furniture is mandatory)

	Conference room chair	Visitor Chair for conference hall (Medium back, Flexible pushback or a sliding seat,
3		Retractable desklet, PU top arms or Wooden top arms, Extremely comfortable 61
		cm wide seat. This coat is a desired to a wooden top arms, Extremely comfortable of
	V 1	cm wide seat, This seat is designed for conference halls, convention centres and
200		educational institutions and for any space which needs to look elegant, Ergonomic
		(With quotation Attachment of catalogue of particular furniture is mandatory)
	Display board (Faculty	30"x 60" wooden (With quotation Attachment of catalogue of particular furniture is
	details and student's	mandatory)
	toppers of the	
	department)	
-	Faculty chair	Foodback Chairman and Adjustable Seat
	- dedity chair	Faculty Chair – Mesh Back, Adjustable Neck rest & Lumber Pad, Adjustable Seat
		Height, Back tilt Tension, Recline Lock, Nylon Pedestal, KTS Mechanism 4 Positon
		Locking. (With quotation Attachment of catalogue of particular furniture is
		mandatory)
	Faculty room magnetic	Board size: 24"x 36" Material: Resin Coated Steel Surface Type: Pen/Marker Based •
	white board and duster	Anti Glare • Accept Magnet • Water Proof • Chromium Plated
		Corners (With quotation Attachment of catalogue of particular furniture is
	×į	mandatory)
	1-1-16/1-1	Si S
,	Lab Work bench	Size 5mtr x 2 mtr with Granite top, MS Powder Coated Under structure and 4 nos of
		Drawer Unit, with Electric Trunk Key in the middle wise. (With quotation Attachmen
		of catalogue of particular furniture is mandatory)
3	Magnetic White board	4'x 6' Magnetic White Board Board size: 4'x 6' Material: Resin Coated Steel Surface
	with duster for	Type: Pen/Marker Based • Anti Glare • Accept Magnet • Water Proof •
	laboratory	Chromium Plated Corners (With quotation Attachment of catalogue of
		particular furniture is mandatory)
9	Notice Board	6' x 4' glass/ transparent sheet covered (With quotation Attachment of catalogue o
		particular furniture is mandatory)
10	Office Table	Size:5 x 2.5 feet, both side drawer, (With quotation Attachment of catalogue of
		particular furniture is mandatory)
11	Seating stool	Seating stool Back High Base with Mechanical Revolving and height adjustable and
	(Revolving and height	Back Support. (With quotation Attachment of catalogue of particular furniture is
	adjustable)	mandatory)
12	Student's desk cum	Two seater Desk-cum Banch Student's dealing and the
	bench	Two seater Desk-cum-Bench. Student's desk cum bench 2 Seater with MS powder
	Schol	coated under structure with pre laminated top Size: 1240 x 1130 x 757 (With
		quotation Attachment of catalogue of particular furniture is mandatory)
13	Visitor Chair	Standard visitor chair, with arm rest, non revolving, specially used for office. (With
		quotation Attachment of catalogue of particular furniture is mandatory)
14	Wooden Table High	3w x 2d x 4h feet, wooden, simple look, for laboratory report writing. (With
	1 1 11611	The second state of the second

		1-1-07/
_	Base	quotation Attachment of catalogue of particular furniture is mandatory)
	Dasa	